Ch En 374 Equation Sheet

Exam 2

Properties of Water

p = 10%kg/m?
w= 1073 Pas
v = 72.9mN/m (air interface)

Properties of Air at 27°C and 100 kPa

p = 1.18kg/m?
pw=1.86 x 107 Pas

Equations

w=VXxwv

1dL
L .
Lda PP

1

r=- [Vv+(Vv)T
2
F=An o

o=—-0P+T

F:/n~adS
S

/ez-nPdS—i—/n-T-ezdS
s s

T =2ul

Fp

Unit Conversions & Constants

1m = 3.2808 ft

1kPa = 0.1450 psi
latm = 101.3kPa = 14.7 psi

1kg = 2.2056 Ibm

1slug = 32.1741bm

11bf = 4.448N = Islug - ft/s*

g =9.807m/s* = 32.17 ft/s*

T = |Vo+ (Vo)!
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